Q1.

A)
nsname(nsid(agmde:loEnrolled) X Students)
B)
Tage(Tsia (Mcia (Ocreaits=3Courses) X Enrolled) x Students)

Q)

Tsname Tsia Teid (Ocname=rcaicuius:Courses) = Enrolled) = Students)
D)

Tsname Tsia (Teia (Ocredits<aCourses) x agmdengnrolled) X Students)
E)

nsname((nsid (Enrolled) — nsid(ogmde<>10Enrolled)) X Students)

F)

nsname((nsid(ncid(acredit5=3Courses) > Enrolled) U nsid(agmde:loEnrolled)) [ Students)

G)

Tage ((nsid(Enrolled M Oename="Calculus"COUTSES) — Tgg(Enrolled X Ogpogirs=qCourses))

xS tudents)

H)
p(Enrl, Enrolled) p(Enr2, Enrolled)
T[sname((ngradeEnrO”ed) - T[Enrl.grade(Enrl M(Enrl.grade>Enr2.grade) Ean)) > Enrolled 4 Students)
1)
p(Enrl, Enrolled) p(Enr2, Enrolled)
ﬂsname((nsid (Enrolled) - T[Enrl.sid(Enrl N(Enrl.sid:Enrz.sid)"(Enrl.cid<>Enr2.cid) ETlTZ)) ™ Students)
J)

p(TMP1, Courses) p(TMP2, Courses)
p(TMP3, mt.iq Courses — Trypy cia(TMP1 Myypy creqits<rmpa.creaits T MP2)) ”grade(TMP3

> Enrolled)



Q2.
a)
T aname <(T[didD ishes

— Tdid (ainame='sugar'OR iname='butter’ OR iname='starch (Recipes ® Ingredlents)))

% Dishes>

b)
T[iname((UunitpricezloIngredients) X ReCipeS X (Gpopularity>10000DiSheS))

c)
T[origin((O-iname='saffron’Ingredients) X (UquantityleeCipeS) X DiSheS)

d)

npopularity((ndidDishes — Tgid ((aunitpricKsoIngredients) X Recipes)) > Dishes)
e)

p(TMP1, Recipes)
p(TMP2, Recipes)
p(TMP3,m;jqRecipes — g (TMP1 ™ yp1 jia-rmp2.ia)" (rmPraia<>TMP2.aia) 1 MP2))

T[iname,unitprice (TMP3 X Ingredients)
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